QUESTION BOOKLET

This question paper contains 170 questions. / 39 Y94 93 § 170 ¥ & |
All questions are compulsory. / ¥ 9% Afar £ |

One question carries half mark only. / T ¥4 & {70 shaet aman 3/ 2 |

Maximum Marks : 85 Jftrwan 31 : 85
Time : 2 Hours - g 2 U
1. India won the Cricket World Cup in
EA{ 1983 E_E% 2011
@) Both (A) & (B) None of these
WG 3 firdhe fava <y foeg ok sfram e ?
S IF (A) 1983 (B) 2011
V(O (A) T (B) (D) A & i 7
_2.  Which player is nick named as ‘Indian Express’ 7 .
% A} Leander Paes &E)} Mahesh Bhupati
M (C) Both(A)& (B) _ None of these
| &1 I ‘§feTA vEnE' 27
(A) foe=sm (B) e qufd
(& (A) 7 (B) 3 (D) ¥ &5 T
3. The term ‘Dribbling’ is associated with which sports ?
; (A) Volley Ball ) Table Tennis (C) Gol (D) Polo
y Rty R e @ wfera 27
v @iﬂiﬂiﬁa (B) dW@ b (C) Tiew (D) e
4. ‘Durand Cup’ is associated with which sports ? _
(A) Cricke (B) Fuotball (C) Boxing (D) Lawn Tennis
e FPu g T g7

(A) PRz &) g (C) wifaem (D) @ Fm

5.  Which of the following is not a major vocal forms of Hindustani Classical

7
Eﬂ:l:)j“idmyal B) Dhrupad  (C) Tarana (D) None of these
= & B TS elg it 1 v ge8 TRH S AE R 7
_ (A) wEE (B) U7 (C) T () i a=rd =
6. Ustad Binda Khan is associated with which musical instruments ?
> (A) S (B) Sarangi  (C)_Sitar (D) Violin
T @ e ave 99 § gatta &7
(A) § @) @t (C) foam (D) Fmfem
7. *Bihu’ is a folk darice of which Indian state ?
(A) Assam (B) Gujarat (C) Bihar (D) Goa
iy’ form st 0 1 Sl TR 7
(A e (B) TR (C) fumn (D) T3
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8.  Ajanta caves are located in which Indian State Y 1;{ (15’ 10) :Le =
(A) Arunachal Pradesh B) Uttar Prades b K rt;f
[('} Andhra Pradesh Mahamhtra & .-
el ) THTd s ok fenet T A arlt B,/ ¥
(A) e wen (B) swuew (0 mﬂiﬂ ( i;’jf
i CTOY
9.  Which of the following is a prime number ? C
fot 3 8 @ ot b w7 HEn 87 a
(A) 33 - (B) 8l (C) 93 (D) 7
10. The ILC.F. of 595 and 252 is 09}2(9‘5
595 e 252 &1 WA gATEds (HCF) : (oY f
(A) 1 (B)) 7 e (D) IT#’Q’JQE{? ],.
1L 304~ 108=2 \ a)
(A) 314 5 \0 (B) 3140 42 75
(C) 3140000 /(\(D) Nore of these/&TH & &I§ 81 .-
12. 171 +19x9=7 : :
(A) 1 (B) 1
@' 8l \J‘:fi‘)) None of these/§78 & %1§ F&1
{%
13, V17161=" \"k// :
(A) 129 9
(C) 121 @ Nnneufﬂmejﬁﬁﬂ'q;ﬁqg’f
14, The average of all odd numbers upto 100 is -
100 7 <51 wf) forem wemai &1 e 2 (°°X1=1f

e —

(A) 51 -M’/__ (@) 49.5 D) 49

15. If the sum of two numbers is 42 and r.hmr product IS 43? then the absolute
difference between the numbers is ;
ufe 21 s w1 2 42 71 7 T 4378, A 3 s w1 ek
& 7 W %
y L’“ ]31 ) @ 4 © 3 (D) 7 13?—. L3}
. Hitesh is 40 years old and Ronnie is 60 = P
the ratio of their ages 3 : § 7 18 00 years old, How many years ago was
1), ayears 10years  (C) 20 years
D
fdrer 40 d 1 3 60 o %1 tlﬁ‘ﬁ?ﬁqg H{%%”Jﬂ?_&
ﬂr"q HAG 3 : 5@
(A) sad (B) 10ad (©)
20
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N, 1 ™.
o | 1 = | o ' ! l.”
17. &3=? It = - | L4 4 s e,
' | 9, lr"']f:‘j : (X )™
(A) 33 N (B) 4 o/
) 8 these/g @ % 7
(C) 5- (D) None of these/§TH
18. What percent is 3% of 5% 7 m d ”,r [ > N e
5% % 3% o Wi faen #m 7 AL '
m 15% (B) 1.5% =78 |
() 0.15% (D) Nunenf:hemfsqﬂnﬂéaiﬁ Lite
19. B}f selling a chair for ¥ 572, a man gains 30%. The cost price of the chair is
(A) T340 (B) 400 (C) T 440 D) None of these
G 1 <1 2 572 T Ao T e e <R 30% S T R | T A 1R 7
4 (A) T340 (B) 2400  (C)T 440 (D) yﬁafﬁaﬂ
)
20. Liéh B=2:3andB:C=4:5,thenC:A=" ﬂit"’,l;_fﬁ
A:B=2:3@MB:C=4:5aC:A=7 e " a:
M (B) 6:5 (C) 8:5 D) sf:?rii‘
21, If5 spiders can catch 5 flies in 5 minutes, how many flies can 100 spiders
e catch in 100 minutes ?
S a&smﬁﬁwﬂ:nﬁaﬁwﬁ;ﬁmum 100 fige A Feeeft wfaeral
METRT g MY S AL L
s A 100 (B) 500 (C) 1000 < @Tm RNSATAS
M (82, If 5 men or 9 women can finish a piece of work in 19 days. 3 men and
= 6 women will do the same work in =g =Tte g
~ (A) 10days &(B] 12 days {C) 13 days (DY 15 days
15%%%%%@% $1 19 ferl § qu =t w%a €, 71 3 768 A
_q eEs (B
- @y nmEE - @-rREE ) sREd D) isEE
123 A man covers half of his journey at 6 km/hr and the remaining half at
Ca 3 km/hr. His average speed is
ot (A) 3kmhr  (BY 4km/hr  (C) 45kmhr (D) 9km/hr
~ U e 3o Fwdt g 6 A, § ol e R 3 Rt amdt A 3 fefie
. AF@R | IEh mm e
-?{- (a) 3fefE ) afwd (@) 4sPeld (D) ofemfin
| In how many years, a sum will be thrice of it at the rate of 10% per annum
1|L]'b g A) (B) 20 years (C) 30 years (D} 40
el ﬁl #ﬂﬁaﬂyﬁ IS A 10% R i 71 & S 2 P g B
t )mr 15, @B) 20 (C) 30ad (D) 40 a4
L L QK E,}f A 'I.\_; s - Code No. : -‘579!1“19 ISerici.
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S P mi et I-i;l."ldh}r
“q circle : by 6%, then ils area Is INCre 1S
tn eadius of a circle 15 increased
15, e radius © i
). 30" l[Fl] 3.6% € 12.36% (D) 36%
(A) D.3070 . }
‘acube i : al surface area Is
. volume of a cube is 512 cm’. Its total su
ce g;ﬂ‘ﬂmﬂﬁlmﬂﬂﬁll cm-‘ﬁﬁgﬁg@w?mﬁm e
(A) 64 cm? (B) 2s6em?  (C) 384em= (D) 512 cm P

-,

37, The complement of 627 is

(A) 118° (B) 28° (C) 38° (D) None of these 7 -
627 &l -
(A) 118° (B) 28° (C) 38° (D) = & HIg THl
28, sin 60° cos 30° + cos 60° sin 30° =7
3 5 o
(A) = (B) 3 {C) | (D) 2

-

19. Sharda Commdor Plan, which was in news recently, is reiated to which of the
following countries 7
(A) Nepal (B) Pakistan (C) Srilanka (D) Myanmar
< mﬁ%{ﬁm,ﬁmﬁﬁmﬁﬁm. Fra i am A wafua 27
(A) 91 B)) wiFmmE  (C) e (DY =
30.  The world's largest e-waste recycling hub has opened recently in which of
the following cities ?
~ {A) Dubai (B) Tehran (C) Paris (D) Istanbul

|

< o o - A € et 3 e e v e e TR 7

b (A) g (B) e (& P (D) Feaiger

31, Who is the author of the recently published book ‘Every Vot
Story of India's Elections’ ? 7 Yote Counts - The
(A) N. Gopalaswamy (B) Sunil Arora
(C) ;?in Chawla <t 4 (D) BEB. Tandon
L4 TFIE g RAEE U R L o0 o e —
Gice ot i . s
(A) & Taemarfi(B)  gter et @-‘ﬁ* T IET (D) @4, 7eq

32. Who has recently become the first batsman to score 5,000 i ~
(A) Virat Kohli (B) Ajinkya H,ahan:;s K sty 7

(C) Suresh Raina (D) Rohit Sharma
IPt.tmﬁmmﬁsnmmﬁiﬂﬁwﬁm—ﬁmmﬁ ?

(A) FRawh () sRmwd (C) ot (D) Wi ymi
Code No. f‘-i“m“-mllkl-ﬂ L



33.

34,

. HishYy

3s.

38.

39.

Who is the recipient of the Global Teacher Prize 2019 ?

(A) Andria Zafirakou (B) Peter Tabichi
(C) Nancie Atwell (D) Hanan Al Hroub
e €St RN 2019 R 19 A §7
lwﬁm!m%w ®) e e

(C) I=f vedw : (O} & swm
Which Kushana ruler patronised Buddhism ?

(A) Harshvardhana (B) Ashoka

(C) Samudragupta (D) Kanishka

form o e 3 &g e =t weer

(A) wadq (B) JFEiH ©) wpw (@ w

Nalanda University was a great centre of leaming especially in
(A) Buddhism (B) Jainism (C) Vishnavism (D) None of these

EING TS HEH $rg o fed,
(&) Hewa drad = (B) 7w dad #
(C) Sswramm Higy = (D) & & FI3 48

The Rashtrakuta kingdom was founded by

(A) Danti Durga (B) Amoghavash (C) Govind-III (D) Indra-III
Tghe HIHTSA i TG+ &1 7§ off

(&Fgizn (@) swwmaEm (©) M- gD) F=-1F
Which Delhi Sultan pursued the policy of blood and iron ?

(A) Alauddin Khilji (B) Ghiyasuddin Tughlaq ,
(C) Balban (D) Iltutmish ,//
feeft & fovm goram 3 w6 3k wite A A ) 3 wgrn?
(A) sremad Rt (B) Prargdi grer

( (DY Femafi
Which Mughal Emperor fought the battle of Panipat in 1526 ?
(A) Babur (B) Humayun (C) Akbar (D) Aurangzeb

1526 # foa qrrer argmg 3 Urivd 1 3¢ w=r e ?
@d‘?ﬂ (B) ¥ (C) e (D) 3o

Jantar Mantar is located in

(A) ]":!‘[aharﬂshh'a (B) Uttar Pradesh(C) Gujarat (D) Rajasthan
EGLEL I

(@rFemd  (B) swwwE () mwad ) v

LA
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40. Who was the first Indian elected to the British Parliament ?

(A) Dadabhai Naoroji (B) G.K. Gokhale

(C) B.C.Pal (D) Lala Lajpat Rai
fafem wwe % foru fraffira veen smedta w1 o7

(@ renmé (B) TirTet o7 e
(C) .. =

(D) T ATSYd T

41. Mahatma Gandhi was profoundly influenced by writings of
(A) Bemard Shaw(B) Karl Marx (C) Lenin (D) Leo Tolstoy
HETeHT M) el F9 & forweh i & s ge A7
(A) T91E =i (B) Fumd (C) =FH @/ﬁa‘q‘fz’fﬂrm
42. Fundamental Duties are included in the Indian Constitution by which
, Amendment ?
GPT(A) 420 (B) 44" () 73¢ (D) 85"
& i & wfrem & v et @1 e few gyites g g o
@ 473 By 443 (€ 733 (D) 859
43. Which of the following is justiciable in nature ?
(A) Fundamental Duties (B) Directive Principles of State Policy
= (C) Fundamental Rights (D) None of these
L/) P dd eyl @ g & 7 .
(A) Tend ~BY_ T & Hifa Fiers forgia
@ wifereh arftrer (D) 335 § FI5 el

44. What is the maximum age limit for the post of President of India ?
(A) 60 years (B) 65 years (C) 75 years (D) No age limit.
WRE < TEafd % g % o rfsram stg dm w2
(A) 60 =¥ . @By 65 74
(C) 75 @raﬁémtﬂmqﬁ3|

45. What is the maximum number of Members of the Rajya Sabha 9
=g w1 3 ity a5 ST TR 7

(A) 238 @/2’50 (C) 543 (D) 552
46. Who appoints Governor of a State in India ?

(A) Prime Minister of India (B) Council of Minister

(C) Speaker of Lok Sabha (D) None of these

R & Ty & TSI e w1 war d X
(A) WRA & WO w5 (B) =i gfge

K
(C) i gy 31eas OF 3 3 cé\?’"f'f"
l Coade Ny, - C-879/2019/Series-D g Rl QLV



49.

50.

51.

52.

Which of the following planet is nearest to the Sun ?
(A) Sawm (B) Jupiter (C) Mars (D) Uranus
= 8 & . = e i & wdioea 7

(A) fa @y geEt (O Tw (D) B

The clouds float in atmosphere because of

(A) low temperature (B) low velocity
(C) low pressure (D) less density
aIgAvSH # |eel O &, R HR R

(A) fEams  B) fRam () PEem D

Which of the following countries shares the longest border with India ?
(A) Bangladesh (B) Bhutan (C) China (D) Pakistan
wia @i & P & @ S w1 3w gaifas o 9 am g R

@fﬁmﬁm (B) N (C) A (D) wifsr=m
Where is Lakshadweep island located

(A) Indian Ocean(B) Bay of Benga!(C) Arabian Sea (D) None of these
TG 419 HEi wWar )

'{ HEETR-H (B) @me 1 @rgl A
C)) y@ arms (D) T & e
The Indira Gandhi canal gets water from which river ?

(A) Satlyj (B) Beas
(C) Both (A) and (B) (D) None of these
gieq mieft T J frg 7 o gt AT R
(A) qaH (B) =™

© wwn @) Oy T AT
The Forest of Sundarban is called as
(A) Thorn forest @ Mangrove forest
(C) Den:ld_uous forest (D) Tundra
E & e FEeld &

(AT T T (®» WA (C) wiudtss (D) z=m

Which of the following is a cash crop in India ?

(A) Maize (B) Gram (C) Onion @) Wheat
N GEIEE TR RE =R k- ok & i

(A) W& (B) = fe/ ®)

Code No. : C-!ﬂfzmg,rs...i.._n



54.

Ss.

5.

59.

60.

61.

Money 1s an erample of

(A) Sunk capital (B) Float czptal
(C) Concrete capital (D) Sfmmlmfmw
421 vs Laipem B

(A) Thih= gy, A th = (Cy warh th 5 rm/é-n:-ﬁm

Which of the following 15 an

indirect tax 7

(A) Capital Gains Tax ) Excise Duty
(C) Wealth Tax D) Estate Dy

B 8 %Y 91 0% gyam w1
(A) Th =fes 32 ,g; N W= (C) mofamr L
Plagts differ from animals in having
AA) Locomation (B) Mezbolism
(C) Localised growth (D) Catzboiism
ez, dal B ga w4 fo § e wn
(A) I3 ¥ |

| (B) Fmrmmamm |
(C) AT gavd= s 2| (D) wramaAT |

Which of the following disease is caused by virus ?
(A) Typhoid (B) Cholera () Common Cold(D) Malaria
faa @ 2 2 a1 7 oy 3 77 2

(A) ZHA%EAE | (B) #

AC)) amar w4 (qam, (D) mefra
Cactus 1s referred o as /('_ ‘
A) Hydrophyte (B) Mesophyte’ 4C), Xerophyte (D) Epiphyte
7a (ATTEA) wafin ® _ Skl _

(A) FIZETFI2 A (B3) BATHEIEZ A () SmEEza (D) FerEzg
Which of the following fuels causes minimum environmental pollution ?
(A) Kerosene (B) Diesel (C) Coal (D) Hydrogen
hnaﬁthmmnmmmmmt? ‘

(A) FARf (B) #A (C) ®raen @ﬁ‘m
The commonest mammal is
(A) Elephant  (B) Lion (C) Man (D) Panther
qUR AW wAT R
(A) Frh (B) fam ’(g,?/ﬁm (D) e (Fgsm)

Nitrogenous food is .
(A) th:hydr;sfﬂj Lipid / Protein (D) Salts

( TS (B) fafoz ./"6) méR (D) v

LW ’
%4 No.. (-579/2019/Sertes-D 10



62. Blood is red in colour due to the presence of

(A) Cytochrome (B) Chloroph , : :
¢ phyll (C) Haemocyanin (D) Haemoglobin
= ) sufenfa & s @ a@ Ak

(A) TEdRE  (B) FfRE (C) frma (D) frirenfi

63. T'h:]: side mirrors of vehicles are of which type of mirrors ?
(A) Plane (B) Inverted (C) Convex (D) Concave
&AL % H1EE e e yamn F AR E7 :
(A) |Haw (B) Iere (@ = (D) awe
64. Sound cannot pass through
(A) Vacluum (B) Water (C) Steel (D) Air
S H TER A R AR

(ayfRfed (B) =3 (C) @=d (D) IqA

65. Which of the following is best conductor of electricity ?
(A) Copper (B) Iron (C) Aluminium (D) Silver
o= & | T forga =1 walom SEs 27

(A) @® (B) ©& (C) wafifam o =id

66. ?ne element common to al! acids is

(AY Hydrogen (B) Nitrogen (C) Oxygen (D) Sulphur
¥l 3nt B qrn SR S T 39 A

®) TEHSH (B) ATgEISH @y Fiadfsd (D) &N

67. Chemical name of common salt is

(A) Sodium chloride (B) Sodium nitrate
Ammonium chloride (D). Calcium chloride
HTYRY S (A7) 1 TETEES T R
(Ay-Gfsmm F=iTEe (B) wif¥am g
(C) Jwf~ram FNEs (D) Hfewmm TN
68. Chloroform can be used as |
(A) Analgesic é) Anaesthetic (C) Anti-malarial (D) Anti-biotic
FEATOGT 1 ITANT fha1 SN HeH 2
(A) dreTEr & w9 H (®) Fredas Hw0d
{C) wafra e & F A (D) whrdfas F sl

11 Code No. : C-579/2019/Series.



69. Choose the incorrect pair :

( 0O0se - geese (B) Trout - trouts.—
(C) Swine - swine (D) ~Basis - bases
70.  Choose the incorrect pair : \
(A) Tiger - tigress ((BY Colt - filly
(Q)~Gander - goose (D) Milkman - milkmaid
71.

Choose the incorrect sentence
(A) You, heand I are watching T.V. X

@gj- It is | who am to blame.
) Ley me and he enjoy the game of chess.

(D) He is wiser than I (am).

72.  Choose the incorrect pair showing the comparative degree of adjectives :

(A) Well-better B) 1ll-worse . —
(C) Late-latter ﬂ)‘ﬂ Swiftly-more swiftly

73. My grandmother cannot read or write. She has knowledge of words.
@ a little (B) the linle (C) little (.I;)*I/g

few

74.  Will you give me food, please 7

L some (B) any (C) the little (D) a
75. Ashokaplanted trecs )  the roads.
@ along (B) alongwith (C) in (D) on
76.—The w to =~ jail.
(A) a (B) the (C) an {@none of these
77. The past form of ‘lie’ is
(A) lie \(B)) lay (C) lain (D) none of these
78. The poultry _¥r{_ mine.
@% (B) was (C) are (D) has been
. ‘He will have been punished for his crime’ s in
(A) Past perfect tense 5) | Future perfect continuous (ense
Cae, (C) Future indefinite tense =

» I"Uture perfect tense
No.: C-579/2019/Series-D
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L 89

80. When he was in school, he

82.

85.
86.

87.

pe

90.

921.

20 to school on foot.

(A) use 1o (B) would (C) oughtto (D) may

"A lover of books is called’

(A) Cynic (B) biblioklept (C) biblioclast @ bibliophile
Choose the right sentence Sqéw
(A) Hardly had we gone out, then it began to rain |

(B) Hardly had we gone out, than it began to rain:

_(C)__ Hardly had we gone out, when it began to rain.
@) Hardly we had gone out, when it began to rain.

Choose the correctly spelt word from the given option :

(A) C}fmetry% (B) Cematery [_@l Cemetery (D) Cemetry J}}fph
Choose the 'Eru:nnnc.Lpair from the given option :. 7] -
(A) Cat-kitten (B) Deer-fawn (C) Fox-cwb (D)) Geoseduckling
Choose the correct synonym of ‘agile’ : « = '

gﬂj nimble (B) slow —  (C) Tazy (D) niggard j LEs
Choose the correct antonym of ‘Malice’ : = .+
will  (B) Ill-will  (C) Spite (D) Hate

Choose the correct option from the following to change the voice :
He will be accommodated.

(A) He will accommodaie her.

(B) The neighbour wil! be accommodated her.

(C) The neighbour will accommodate her.

(D) No change

Choose the correct option of indirect from of speech, of the given sentence :
The teacher said to the students, “Let us start a new lesson.”

(&Y The teacher asked the students o start a new lesson.

(B) The teacher suggested to the students to start a new lesson.
(C) The teacher suggested to the students that he should start a new lesson.
(D) The teacher suggested to the students that they should start a new

lesson.
Emﬁ?@ R (© (D) F
T ) s (@ ()
gﬁﬁm% A s (D) ZH

13 Code No. : C-579/2019/Series.y



92, ‘wurwfe ® wurg R -

(A) ey (B) @& (C") ﬁ:‘] ;df)}"ﬁ}mm
93, ‘Huel Ve &I yfaarfi R

) T30 (B) @ (C) 9gu (D) 3fq
9o I gwH e sard?

(A) &g (B) ¥® (QREE] (D) &7

95, ‘W& $) 3BT W@ AT HEeAa 2
H‘l 5y (B) ;Y (©) By (D) 5y

96. %mﬂmt—

tf*"ﬂ (B figma (C) s%eqm (D) @ faern
97, ‘T Wt & HfA-R=dg R -

AV aq+ari  (B) w+at (O F+anl (D) &+ anf
98. ‘T’ weg A HH-#f wfy d7

(A) =Ry (BP-smRefs () wufa (D) fawiEf

99. ‘3HHI N3 ST U1 3R TE BN FM AR 7
A gy (B) Mygmm  (C) aumwarem (D) 6 99d

100. ‘whan’ wreg § 3uen 2 - ,

{Mﬂi’r (B) & (C) W (B uft
101. mﬁ:ﬁmﬁéﬂ

m) SlIE (B9 (C) & (D) A
102. ‘arETErRf Y H GEE R -

(A) TqES (B) @ @fa (D) s

103. ‘U% 2 A oaa fasmu g 7
(m% @) s (C) WIGRENE (D) ORI

104.
p (Br)%ﬁ (C) WB (D) &"

3 iﬂammaﬂmﬁﬁq
108 (A) HAFHHE (ﬁ)—:ﬁ‘l

a;qamaﬂwfﬂﬂ'lﬂ?ﬁ -

R s (© 3 ©) =\

107. 29 yee ) NEETES G &4d1 2

(C) FA=U= (D) zafy

(A) T (B) &= (C) = (D) gMd
108 ' mwﬁﬁ“'ﬂm%— )

(A) gFm (B) IEwiE (C) srfem (D) It
Code No. : C-579/2019/Series-D H.



109,

110.

112.

113.

N
According to Dewey, Education is g

(A) Social need

> B
(C) Psychological need (B) Personal need

(D) Theoretical need

& JER fovan R vss
HITHal
(B) =afemma

Any teacher can become
(A) telling them stories
(B) helping them in doing their homework

(C) behaving with them in a sympathetic manner.

(D) completing their syllabus
ﬁ{tﬂﬁlmmfaﬂﬁtﬁ%ﬁammmﬁ

(A) 3% Ferfrri g w (B) 37 e H wEE #
(C) I7% |1y "erfar &1 =7aEn o (D) H?ﬁa‘wwﬁ

Lesson planning should be guided primarily by the consideration of
(A) providing pupils with work.

(B) the curriculum goals.

(C) creating a happy classroom environment.

(D) meeting the needs of an average child of the class.

18 Ao st i o e & formor gro s i st =nfde
(A) fnffismisdcpt .

(B) vrea=dl & AM & /

(C) T QIS FHTnal TIaTal H1 g

(D) & F 3fad = I FravgHal O FEA

Besides teaching, as a teacher, what type of attitude you will display

regarding other activities of the school ? '
Passive (C) Positive (D) Negative

i B
g;mlgidluf:;rf:riaq;)ﬁrm%mﬁmw@um-mﬁaamﬁmﬁm

w1 rfrgfa wefifa s 7
(A) JgEHA (B) ffsra (C) TFWEH (D) FHRIHS

The school is a '
(A) miniaturised form of the family.

(C) miniaturised form of society.
qraer & O
(A) RER H TP & (B) faremeff &t e
ﬁgﬁ-iﬂ &=q ) ,.Fﬂ.ﬁillelﬂ? YT
i " Code No. : C-579/2019/Series-D

favourite among his students by

(B) laboratory of the student.
(D) psychological laboratory.

(
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114. Which quality of the teacher is liked the most by students
(A) His dominance (B) His love for discipline
C) His impartiality (D) His punctuality
& T 8% 1 B 1 71 ey e wse fan 27
(A) I8! warfEar (B) 38&) A fogar
(C) i Frsaaran (D) Ikt wrrIfm

115. Little children are highly agile and active. You should
(A) stop their activity.

(B) try to reduce the levels of their activity.
(C) study their activity.
(D) give them useful education with the help of their activity.

o= IR &Y  Flfe) 3 afwg @9 & | moet
(A) 3ehi nfafafyy Qe =nfau |

(B) I fafafy v #m w3 it wifvrw s =nfew |
(C) Fehl fafater 1 svemm s =nfew 1
(D) 3R nferfafts ot wgrae & 372 3wmf e 24 wfew |

116. The first ever district, which had achieved u!l literacy is

(A) Trichur (Kerala) (B; Kottayam (Kerala)
(C) Hamirpur (H.P.) (@) Ernakulam (Kerala)
9% ad vgen foren JE1 qoi wnew aniaw 6w 2
(A) B (F) — (B) W (¥Fe)
(C) g (femmeret w3m) (D) Tt (F)

117. The evaluation of personality is best made through the use of a/an
(A) inventory test (B) preference test

(C) survey test (D) projective test
E‘éﬁﬁﬂﬂ'ﬁﬂmmﬂﬁﬁﬂ% a1 e s g 2
(A) aferss gl (B) i wliemr (C)—adem wham (D) wérd ghem

118. Why physical health is also necessary alongwith mental health for a teacher ?
(A) Teacher has to be very active in the class while teaching.
(B) Physical and mental both type of activities are required in teaching,

(C) A teacher is bound to play with his students also which requires strong
physical health,

U Lk L ——

&Th = | savgs 4
(A) ﬁgﬂﬂﬁlﬁﬁﬁﬁmmﬂgaﬁrﬂ?ﬁmg,

(B) i AAfae TR ﬁh‘qﬁm-rqm :
(C) mmﬁw{rﬁwﬁfﬁ%m@ﬁﬁ Lkl

(®) (A) 3t (B) g1
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119.

120.

121.

122.

123.

124.

af v Rt (faremefl) @

If a player (student) breaks the rules of the game, you will

(A) give him a lecture on discipline. ‘

(B) give him a chance to improve his game.

(C) impose fine on him.

(D) throw him out of the playground.
g@m v &t &, @ I

(A) 3 ﬁmﬂm TG 3N |

(B) 3 31T B ) W=rel F 1 T et 37 |

(C) 38 T UgRIT0T HiH |

(D) 38 Ga-Agm | a3 |

[f a boy is injured in an accident, you will

(A) take him 1o a doctor.

(B) give him first aid.

(C) inform his parents.

(D) inform the police and leave the site of the accident.
T 96T % 37TEd & 91 8, M W™

(A) 38 fafercass & o & smén |

(B) 30 wrufes fafrean &0 |

(C) Iu mren-Rran =1 gfem Hn |

(D) feTa i e 31 T gefe we & e S |

Which type of leadership is considcred the best ?

(A) Pragmatic (B) Authoritarian

C) Democratic (D) A combination of all
T YaTes O TR ?

(A) TR (B) |

(C) dArwai®d (D) i b <t it

The first school of the infant is _ _
A) his school (B% his relatives (C) his mother (D) his home

=1 gl qI39Te
(A) Fa TEIE (B) I R (C) IR HHw @‘) T W

- +i0 1 stages of children’s intellectual development are identified b
Egur E:*?ES:; 2 (% Skinner C) Piaget (D) Kohlberg 4
zé% firepre B TR L SHTEATH B TEEH Hl 7S 2
(A) Qg (B) fesREm O Temigm (D) FrEewi gr

In personality as well as intelligence heredity plays
A) anominal role B) a great role
% unpredictable rol _ (D) fascinating role

€
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125. For primary school children, which of the following is better ”

(A) Video simulation (B) Demonstrations F 4 ' :
(C) Hands-on-experiences (D) All of these "T_; N
srufies wre arsl < feo fna A @ @1 dEa R 7
NELSE (B) Pream

(C) wa P72 ef

126. If a child has mental age of 5 years and chronological age ui 4 years, then
what will be the 1Q of child ?

7f foredt 7= it msaﬂmmﬁaﬁwuﬁ auu%flo_,mﬂm ?
(A) 80 (B) 100 (C) 110 \ fP*"

£
127. Who was the pioneer of classical conditioning ? _ : "'ﬁ
(A) Skinner _ (B) Watson  (C) *rhumdi@ (D) None of these

e HHEH & T B A7
(A) e (B) dieEA (C) gizEs  (B) ﬁﬂﬂaﬁhﬂ
\f
128. The first stage in the learning of a skill is 1,
(A) imitation (B) precision (C) manipulation {D] co-ordination

Fvre 3rfem 61 v a2 ‘
(A) FTH (B) uftggan (C) FA®dA (D) HEdraH

129. Who is known as the father of educational psychology ”
A) Herbart (B) Dewey (C) Spencer (D) None of these
(:‘mfi!m 1 v 8 g1 e @
(A) & (B) = (C) = ‘? T8 N
}. lrf” Lil- ‘f”

130. The use of audio-visual material/aids in the class is \

(A) more useful for those students who are intelligent.

(B) more useful for those students who are slow learners. Z

(C) enhances the curiosity of children.

(D) takes the concentration of students away from the main subject
- %= AT /e s e A R 2 i
(A) 37 faenfii &

(B) Rﬁqm*%_i_wu
© W%ﬁlﬁl’maﬁmih 5

(D) whﬂﬁmﬁ_ﬂ_wwwﬁ AR |

131. The activity technique is
(A) class-centred

(C) subject-centred (B) teacher-centred
AN dFhAT & (D) student-centred

(A) T (B) s () fawn 3 ; ‘
(_‘ﬂdl‘ No. : -5?’:'2“.9'“1!!"1“-“ I8 ﬂjw waﬁ?ﬂ



132, When was 'Operation Black-board' commenced in India ”

133

134.

135.

136.

137.

138.

SR =X -ard’ WA B oy fawan A 1 c et

(A) 1990 (B) 1995 (C) 1998 (D) 2002
T:;' lnal-and-t_:rmr method of instruction is best enhanced by
t(‘] role pl;}}m; | (B) independent study

fﬁi’l audio-visual lesson (D) a developmental lesson

waTH aﬁtaﬁqzﬁqaﬂnﬁﬂﬂm%xﬁ_mw%

(A) i Fafe g (B) a3 AHTA gl
(C) T FH -y 913 gl (D) e fasprar@ 913 g
Wl should be the minimum distance between the book and the eye while
reading ?

(A) 6 inches (B) 10inches (C) 12 inches (D) None of these

79 3 T it 3t o & dra A w6 g e &l wfee
(A) 639 (B) 1059 €@ 12§\ (D) 3 A F1§ TR

Who gave the trilingual formula ?
(A) Radhakrishnan Commission (B) Kothari Commission
C) Basic Education Commission (D) Mudahar C ommission

g7 e wega R 27 _
(A) ﬁm? (@) wraT ST
(C) %ﬂ &0 TG (D) TEIfera Fm
Which of the following comprise teaching skill ?
(A) Explaining (B) Questioning
g;j.' Black Board Writing (D) All of these

& an ToreoT I wiRa F R 7
(€) wmmwzwEa (D) AW

(A) @ FAT (B) FAF
ty can be developed

By which of the following methods of teaching curiosi

and enriched in students ? |
(A) Heuristic method (B) Analysis method

; thod D) Supervised study method
gﬁﬁ%%%m%ﬁ%%%%ﬁwﬁm

wedl R 7 |
(A) @a: Y vl (B) farvergm wefa
© FTa 9T (D) T e vefd
4 - # 'gm
The persnnal factor(s) which affect leaming 1
' (B) Peer group
() e et (D) Maturation and age

(WCW s 73
B) shewage (C) fme™ (D) g 3N 3

(A) FAEER
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139. Right 10 Education Act, 2009 specifies the nunmmum oumber ot wotking
. hours per week for the teacher as _ )
(A) forty hours (B) forty-five hours
(C) fifty hours (D) fifty-nive hours

foren 1 sfusr sifafm, 2000 a7 fafée @ & e fsat & fao ufs anm ey
4 %0 w1 v fammn

(A) 40 %2 @) 4552 (C) S0 (D) s5we

140. Cognitive development means , ,
(A) Development of individual (B) Development of Physical skills

(C) Development of Child (D) Development of intelligence
HTe fash @ s 2

(A) =fea. fawm (B) wnfifta dherer faam

(C) =& farerm (D) gz fawra

141. What suggestion was given by the Mudaliar Commission
(A) Bi-lingual formula
(B) Hindi should be the contact language.
(C) Hindi should be the medium of education.
(D) Quad-lingual formula :
% S0 &1 gaa fedn o
(A) fonfes g3 By Fof i o s e nfeo
(©) f&t foewr mrem gmanfee | () T Wifew g3
142. ‘Dyslexia’ is associated with
(A) Mental disorder

(B) Behavioural disorder
(®) Reading disorder

(D) Mathematical disorder

=50
(A) ‘ (B) =mamf fagfa g
(C) 93 fagfar @ (D) o fapfr &

143. Gifted students are

(S; Extmven hink (B) Very hard working
onvergent thinkers (@) Dij '
i \ E g ) Divergent thinkers

(A) =ferdeh B ;
o R (B) #f #53m qfrandr

144. The highest Peakl of H.P_ lies in which distriet of HP ”
(A) Lahaul & Spiu(B) K y)1y _1C) Kinnaur (D) Shimla
ﬁmmmﬂﬁiﬁmﬁrﬂﬁ:ﬁm% 5= & s b
(A) ema-=fify (g, Foe]

(7 fath (D) tomren
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145. :T‘rﬂg«ﬂrlljmﬁ is located in which mountain range of H.P. ?
ir Panjal - (B) Zanskar (C .'| Dhauladhar (D) Shiwalik
¥ 2 fenrae wem ) fasw weanre A 2
(A) v (B) s (GL dlemm . (D) Prnfea
146. Tons river is g tributary of which of the following rivers of H.P ?

A) Yamuna (B) Beas (C) Chenab (D) Ravi
é&q?ﬁ&mn&mﬁﬁmﬁ ) vEEE T R 7

(AY I (B) =m (C) =T" (D) et
147. “The Lady of Keylong' is a

lg'l Local handicrafi (B) Folk dance

(C) Mountain peak (D) Glacier

A T s Faeim' 2w

(A) TG g en (B) &%

(C) udm fiman (D) fowre -
148. Which of the following is the highest earth fill dam on the Beas river in H.P. ?

(A) Pong dam (B) Guru Govind Sagar

C) Pandoh dam (I2) None of these
TeT H 1H 7 W ﬁﬂr“ﬁ‘quﬁmmqﬂmaﬁ??

(&)= sty (B) TEMEEHR (C) WSREy (D) wHABETH

149. Which country aided the (mwmn-:nl of H.P. to start the Swan River Flood
Management Project ?

A) Japan (B) US.A. ¥ (C) Germany Russla
hlmaﬁmmﬁﬁm éﬂqﬁm Enemtrﬂ'e}’lm
HEEd 41 2 ?

(A) 99 (B) g.um.u, (C) bt (D) ¥g_—

150. Sechu Tuan Nala Wildlife Sanctuary is located in which district of H.P. ?
A) Mandi (Fg}a Kullu (C) Una (D) Chamba
%t:n-aa wew < ford et # /g JoT Ao a=refta anamva 37

(A) wE (B) I (C) F (D) S
151. Which district of H. P has no area under apple cultivation ?
A) Kullu S]‘umla A’Sman (D) None of these
Tel & ﬁm i‘i a9 FY &1 :ﬁ\f, T

(A) T (B) fmen (©) aF (53— & Fé 7

152. H.P. State Electricity Board was constituted in which year ?

f these
A) 1975 (B) 1978 (C) 1983 (D) None o ‘1
weyy U fega wvse i = Rra i gg ot ‘ o
(A) 1975 (B) 1978 (C) 1983 @ wEsaE
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18, Thr length of Kalka-Shimla Railway line 1s

1574 #1183 ] =7md 2
(A) uu km (8) 9 km (C1 100 km (D) 103 km
IS4, Swanpur Tira was tounded by which ruler of Katoch Dynasty of Kangra ?
(A) Hamir Chand (B) Sansar Chand
(C) Abhay Chand (D) Ghamand Chand

m%ﬁmmmmqwmﬁwaﬁﬁ‘ st
(A) ®iREe (B) wHmag _1{,1/_3@ (P) T¥zEg

155. Which village in H.P. is reputed 1o be the oldest democracy in the world ?

A) Naggar (B) Bajaura (€) Malana (D) None of these
%E'ﬂ'ﬁ?l ﬁaﬂquﬁaﬁﬁ%m@ Ffeufamm? »

(A) T (B) a=ir ( 2 (D) T8 % 3¢

156. Which temple of H.P. is famous for Bhagwati “Chhinmastika® ?

A) Jualamu_l.hl [B‘.- Bag]m:nul-..hl (C) Chmlpuml (D) Brajeshwari
%%ma afex srae ‘Remmfer & S sfag 27

(A) 'iﬂmn;@i {B} TEHE (@) ﬁ‘-ucrﬁ (D) #ovaht
157. Dandaras, a traditional dance s perf‘orme{; bﬂ. '.-.hu:h tribe of H.P. ?

A) Kinnaura (B) Lahaula (C) Gadd| (D) None of these
¥ i frm s gm0 veET T <31 e srren 2
(A) f=irth (B) wmaeh (C) ’Tf' (D) FHAwE A
158. Jhoori song is very popular in which areas of H.P.?
(A) Sirmaur (B) Mahasu
(C) Both (A) and {B‘.l (D) None of these
T fRETEE W3 o o d & wiftren et 2 7
(A) (B) W&
O A 79 (B) g Q)78 Hr e
159, Ghnntal festival is celebrated in [ahau] Valley in the month of
(A) January (B) June (C) August (D) N
mﬁﬂﬁﬁmﬂﬁﬂmﬁmmm% i

(A) =adi @) @// (C) 3T (D) Favan
160. Renuka fair is celebrated i In which district of H.P. 2

A) Sirmaur ) Sol C) Bilaspy .
fereer 2 fém%ﬁﬁﬁ%::ﬁm ﬁgﬁﬁ%‘;%? (D) Hamirpyr

(Q) A (B) Wiy ©) femR (D) wg

161. How many administrativ

e divisions are in H.Pp °
famras wew & fam mn;rha; :n:rm &

(A) 2 [.]‘\‘:—3 (C) 4 m
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162. In which vear the first legislative assembly of H.P. was constituted "

form ad fimrars 2w &) wyw faura an nfsa gd o 7

(A) 195] (BY 1952 /7 (C) 1953 (D) 1954
\

i ; - - ' o |
163. In which vear, President rule was imposed for the first time in H.P."

frrere waw & wrefl aw favm ad 3§ Trgafa e @ T e

(R) 1977 (B) 1980 (C) 1982 E[_)j__l_%_
164. Who is the chairman of the H.P. Administrative Tribunal ?
(A) Justice V.K. Sharma (B) Justice D.K. Sharma
(C) Justice V.K. Gupta (D) Justice G.C. Gupta
femrae vew vemafe et &1 99uE S R 7
(A) =ragfd = %, i (B) =gqfd &.&. i
(C) =amagfd &, (D) =ragfd St.d. T
165. H.P. Public Service Commission is a/an
| (A) Constitutional body (B) Statutory body
+ (@) Advisory body (D) None of these
© fee oW A 49 AN R T -
C L (A) Hauts e T (B) wifafuss Fem
“0) wemgew frem L (D) 9 & &id 7
|

166. Ancient name of Kangra was
(A} Kuluta (B) Audambra (C) Trigarta (D) None of these

HITS1 1 WEH Fie= A1 o C!\'
(A) F (B) dtzwm =~ (@) P (D) 398 | =18 el

167. Population density of H.P. as per Census 2011 is

FATUA 2011 % AR feor=er 5e 1 ST T @

(&) 123 (B) 132 (C) 109 (D) 190
168. How many states share boundary with H.P. ?

femmee w&w v dim A fRaa el ) dgnd w0t & 2

(A) 3 (B)/ 4\ 5\ (D) 6

— L

i W

169. Olymﬁi;; games were started in which year ?
eI el <1 ypaa forw af & gf off 7
(A) 776 BC (B) 677 BC (®) 776 AD (D) 677 AD
~ 170, The first Asian Games were held in

(A) Manila (B) Jakarta (C) New Delhi (D) Kathmandu
YT Ui @ R W Y ?
(A) wfen (B) Frai (€) Hieh (D) wrenwg
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